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KA, AN, ks, o.t+aedgH,
5T EFRBBASICERS, ARARTWEEBE Y,
©,>~WN; k>K; m>M; t>T; a->G
m 1) KE® D DOX/DT) /DT+ (WN42) »X=0
(4) XE®X WN=SQR (K/M)
(5) REW X=A»SIN (WN*T+G
(6) REB, A=SQR (XO042+VO42/WNi2 , G= ATN(WN*XO/VO)

HEREF DT
10 LPRINTCHR (18) , “C1, S1, A”

20 REM#* % 2aPLOTTING MOTION CURVE OF FREE VIBRATION =
* %

30 LPRINT 4% «PLOTTING MOTION CURVE OF FREE VIBRATION
* n”

4 0 INPUT “M»” 3 M, INPUT “K” ; K, INPUT 4X0” ; XO, INPUT 4VO”

VO

50 LPRINT M=”,; M, “K=”, K, “XO=7»

A=

; XO, “V0=7; VO
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6 0 LPRINT “EQUATION, D (DX/DTy /DT+ (WN42) *X=0”
70 WN=SQR (K/M) ; A=SQR (XO42+VO42/WN42) ; G=ATN (WN#X
O/0) V
8 0 LPRINT “X=ASIN (WNT+G) ”, LPRINT ¥WN=SQR (K/M) ” ; WN
90 LPRINT “A=SQR (XO42+VO42/WN42) ”; A, LPRINT 4G=ATN (W
N#X0O/VO) 7; G
95 LPRINT X=7; A; &SIN (*; WN; “T+7”; Gy % »
100 LPRINTCHR (18) , “CO, MO, - 20 0” . LPRINT “IX1, 180, 2”
110 LPINT 4Ms, -15”7 ; LPRINT PO” , LPRINT “M185, ~15” ; LPRINT
“Pl”
120 LPRINT“M365, —15” ; LPRINT PT (SEC) ” , LPRINT“HXO, 90, 27
130 LPRINT MO, 195” ;, LPRINT “PX” , LPRINT “Ms, 180”7 ; LPRINT
(4P+1’7 )
140 LPRINT #Ms, 90” . LPRINT “P+0Q . 5” ; LPINT “HXO, -90, 2”
150 LPRINT 4MO,-9(0” . LPRINT P~0O. 5”, LPRINT MO, ~ 185",
LPRINT 4P —1”
160 LPRINT «HC3”
170 FOR T=OTO2STEPO (01;: S=WN*T+G; X=INT(180#% A xSIN(S))
180 LPRINT“D”, 180%T; ¢, ”»; X, NEXT T
190 LPRINT “:1.l9d, —-100". LPRINT 4PX=ASIN (WNT+G) ”
200 LPRINT MO, -200” . LPRINT “C1, S1, A”
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a= arctgX, -~ :
Vo + X,

TR,

10 LPRINTCH @a8) , “C2, S1, A”

20 REM # % * PLOTTING MOTION CURVE OF FREE d D AMPED
FREE VIBRATION x *

30 LPRINT “» *xPLOTTING MOTION CURVE OF FREE d DAMPED

FREE VIBRATION# #”

4 0 INPUT«M»”; M, INPUT “K” , K, INPUT 4X0” ; ; XO, INPU «TVOQO, ”»

VO, INPUT «C”; C

50 LPRINT “M=7; M, “K=7; K, “XO =7, X0, “VO=7; VO, &C

=7, C

6 0 LPRINT “EQUAION, D (DX/DT) /DT +2NDX/DT+WN 2% % =(0"

70 WN=SQR (K/M) ; N=C/ 2#M) : WD=SQR (WN4 2-N4} 2)

75 A=SQR (XO42+ (VO+N#X0) 42/WDA2, Q=ATN (XO % WD/(VO +

N=#X0O) ) :

80 I (FN) >=WN THEN220

90 LPRINT ¢«X=AEXP (~-NT) SIN (WDT+Q) ”»

100 LPRINT “WN=SQR (X/M) ”; WN, “N=C/2M”; N\, WD=SQR (W

Nj2-Nf2) ”»; WD

110 LPRINT “A=SQR (XO 42+ (VO+NXO) 42/WD42)”; A

114 LPRINT “Q=ATN (XO«WD/ (VO+NXO) ” ;Q

118 LPRINT 4X=2 ;A; “EXP (-7 ;N; ¢“T) SIN (7 Q;WD;«T +7;Q; ¢ ”

120 GOSUB1000

130 FOR T=0 TO25TEP0«01; U=A#EXP (-N*T) , X=INT(180 »=U)

140 LPRINT “D” . 180#T; “, ”,; X, NEXT T

150 FOR T=0 TO25TEPQ » 01: V=—A*EXP (-N*T) ;, X=INT 180

#V)

160 LPRINT “D”; 180« T; %, ”», X, NEXT T, LPRINT “HC3”

170 FOR T=(0Q TO2TEPQ - 01, P=WD*T+Q, X=INT (180% A#»E XP
(-NxT) SIN (P )

180 LPRINT “D”; 180%T; <%, ”, X; NEXT T



190 LPRINT “HMgo, 120” . IPRINT” Ci, PX1 =AEXP (-NT) ”
200 LPRINT “HMgg, —120” ; LPRINT “C2, PX2=AEXP (-NT) ” , LPRI
NT “Mg0, —60”
210 LPRINT “C3, PX=AEXP (~NT) SIN (WDT+Q) , N<WN”
220 LPRINT MO, -200” , LPRINT “C1, S1, A”
230 END
1000 LPRINTCHRS$ (8) , “CO, MO, -200” ;. LPRINT” 1X1, 180, 2”
1010 LPRINT “Ms, - 15”7 ; LPRINT “P0O” , LPRINT “M185, — 15”7 ; L
PRINT 4py1” , ‘
1020 LPRINT “M360, —15” ; LPRINT “P2” , LPRINT” 365, 07”
1030 LPRINT “PT (SEC) ” ; LPRINT “HXO, 90, 2”
1040 LPRINT MO, 195” ; LPRINT PX” , LPRINT “Ms, 185” ; L PR IN
T “P + 1”
1050 LPRINT, M5, 90” ; LPRINT 4P + 9«57, LPRINT “H XO, -
90, 2”
1060 LPRINT M5, -95” ; LPRINT 4P~ «5
1070 LPRINT M5, -185” ; LPRINT ¢P-1” , LPRINT P-1” , PLRINT
“I{Cl”
1080 RETURN
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B, H130—160A0 U =Ae™ RV = - Ae™FHELNMNBEAMREOEL, k& H
AR RGBS

Y Hm=0,5 k=112,5, x o=1, Vo=10, C=38 AR}, JHEHFITHH @, =15,
n=3, ®,=14,6969, A=1,33507, a=0,8465914 B IzshJ5 R x=1,33507¢ % sin (14,69
69t +0,84659) HHEIEHERM AR MAE 2.
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MR EBERN CHHERBRZARS” , KA T HER L EE RN S TR

d?x dx 7
d—t2—+2nTt—+ ®,2x=hsin (@4 §) cerverrererermemennianaa (12)
Hidif@gx=Ae™ sin (JE:T;'/ﬁ2t+a) + bsin (@t+ & =€) +reeeeee (13)
H b 2n ®

h=Ta o be [ e e, - arctgfoutm 0t AD
P W B A TR HE SR FAFFIEX = - Ane ™ sin V'&T—Tﬁtw) +Ae™
‘/'g,gn"z"; n*COS ( lo,2-n?t+®@) +boCOS (@t+ 3 — &) »roveeeee (15)

~
Mt =08, xo=A sina+bsfin (8 - &) , BiAstna=x,—bsin (d - g) - --(16)

Ve= - AUsin o+ Ae'”"/ ©,2— n?COSa+boCOS (& — g) «ovvererenen an
Xo—bsin (B = &)
[‘H (16) ﬁIﬁ%A = - "*"‘S"ifa'(fxf e ttisesbes s sersaa e aas e sss bee sae gepten (18)

HH Vo= —ax, +nbsin (5~ &) +A‘/7c0'nT_—' n’cost+bmcos (§~ &)
4§A_\/oan2'_n2cosa=Vu+n xo—nbsin (8- &) —bwcos (d— €)

Vo+uxo—nbsin (d— &) —bwcos (5 - g)
A= cos— - — -

\/mnz__nz

[ xo—Dsin (5—-¢€) ] ‘/6?—-:;—2

Tk 4 to - e o
L n [ X¢—bsin (- €] +Vo—~bwcos (8~ &)
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Vo—b(ocos d - 8_27+ a

Xo—bsin (& — € )

RN, TR, WTHEERSEBFTHNEMNT “adaiksy” . ¢

BB HBE? & “HREs7 Wik, NT2aRE, Rt TabEE R M KK ®E
P, HAEXALE:

M=y BT E= (20)
b
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RBRRF R

10 LPRINTCHR$ (18) , ¢“C2, S1, A”

20 REM# # «PLOTTING MOTION CURVE OF VIBRATION* * 8

30 LPRINT “* « PLOTTING MOTION CURVE OF VIBRATION # %”
40 INPUT “M” ; M, INPUT “K” ; K, INPUT 4X0” ; XO, INPUT “4VO” ;
VO, INPUT «C”; C

45 INPUT «H” ; H, INPUT «W”» ; W, INPUT «D”; D

50 LPRINT “M=”, M, “K=7; K, 4XO0=”, X0, “VO=”,; VO, “C=
» : C’ (‘I_I=» 3 H’ “W=” 3 W

55 LPRINT «D=»”, D

60 LPRINT “EQUATION, D (DX/DT) /DT +2NDX/DT+WN¢2*X=HFSIN
WT+Dy ”»

70 WN=SQR (K/M) : N=C/ (2#M) ., WD=SQR (WNj}2-Ni2) ., Fg=H
/M

72 E=ATN Q«N«W/ (WN42-W42)) . B=HT/SQR ( (WN42-W4 2)
42+ (2«NxW) 42)

74 Q=ATN (WD/ ( (VO-BxWCOS (D-E) ) / (XO-B#SIN (D-E) )
+N) )

76 A= (XO-B=%SIN (-Ey ) /SIN ()

80 IF N>=WN THEN400

90 LPRINT “X=AEXP (~NT) SIN (WDT+Q) +BSIN (WT+D-E) »

902 LPRINT “WN=SQR (K/M) ” ;WN, 4N=C/2M” ; N, “WD=SQR (WN
42-N4i2>”; WD

94 LPRINT “HF=H/M” ; HF, “E=ATN @NW/ (WNi2-Wj}2))”; E
96 LPRINT 4B=HF/SQR ( (WN42-W42) 42+ 2QWN) 420”7, B

97 LPRINT A= (XO-BSIN (D-E) ) /SIN (Q) ”; A

98 LPTINT“Q=ATN (WD/ ((VO-BWCOS (D-E) ) / (XO-BS

¢ 38 »



IN(D-E)) +N) ) ”; Q

100 LPRINT 4X1="; A; “EXP (-”; N; “T)” SINC” ; WD; '4T+ ”
Q “”

110 IF H=OTHN230, IF C=0THEN230

120 LPRINT “X2=7, B, “SIN;C”; W; “T+”, D; «-»  E; & »
130 L=W/WN; Y=N/WN, R=1/SQR ( (1-L4+2) 42+4%Y f22L 42
140 LPRINT4L=W/WN”, L, “Y=N/WN”, Y, “R=1/SQR ( 1-L42
) 42+4=2Y422L42) 7; R

150 LPRINTCHR$ @18 , “CO, MO, -250” . LPRINT “IXi, 120, 3”
160 LPRIN M5, —-15” ; LPRINT “PO” ; LPRINT “Mi125, —15” ; LPRINT
aPl’)

170 LPRINT “M245, —15” . LPRINT 4P2” , LPRINT “M360, —15” . LPRI
N’I‘ “P3”

180 LPRINT “Mses, 0” LPRINT “PL=W/WN” , LPRINT «HXO, 30, 8”
185 LPRITN MO, 250” . LPRINT 4PR =B/BO”

190 FOR I1=1TO08, S=30#1. LPRINT 4Ms5, ” ; S, LPRINT “P”; I, NEX
TI, LPRINT ¢HC31”

200 FOR T=0TO3STEPQ.01: L=1#T; R=INT (30%1/SQR ((1- L{2)
d2+42Y 4214 2))

210 LPRINT «D” ; 120«T; % ”; R, NEXT T

220 LPRINT “HM200, 120” ; LPRINT “PY=N/WN” . LPRINT “C1, Si,
A”

230 GOSUB1000

240 LPRINT “HCy1”

250 FOR T=0TO2STEPQ - 01; P=WD*T+0Q, Xi=INT(1802A*EXP (
~N# T)«SIN (P))

260 LPRINT “D”; 180#T; %, ”; X1, NEXT T

270 LPRINT” M200, -60”; LPRINT 4PXI= AEXP (-NT) SIN (WDT+Q
) bed .

280 IF H=(QTHEN400

290 LPRINT “HC2” ,

300 FOR T=0TO2STEPQ,01;: U=W*T+D-E; X2=INT(180*B#SIN (
()2

310 LPQINT “D”, 180 T; %, ”; X2, NEXT T

320 LPRINT #“M200, 90” ; LPRINT 4PX2=BSIN (WT+D-E) ”, LPRINT
“HC3’)

330 FOR T=0QTO2STEPO,01

335 X=INT (180% (A#EXP (-N*T) #SIN (WD#T+Q) +B#SIN (W =
T+D-E)),

¢ 39 .



340 LPRINT “D”; 180#T; ¢, ”; X, NEXT T
350 LPRINT M200, 130” * LPRINT 4PX = X1+ X2”
400 LPRINT MO, -200” ; LPRINT “C3, S1, A”
410 END
1000 LPRINTCHR$ @8 , “CO, MO, -350” . LPRINT” X1, 180, 2”
1010 LPRINT “Ms, —15” . LPRINT PO” . LPRINT “Mi185, —-1|5” ; LPR
INT “P1”
1020 LPRINT “M360, —15” . LPRINT 4P2” ., LPRINT” M365, 0”
1030 LPRINT “PT (SEC) ” ; LPRINT “HXO, 90, 2”
1040 LPRINT “MO, 205” ; LPRINT “PX” . LPRINT “M5, 185” , LPRI N
'l‘ “P+1”
1050 LPRINT “Ms, 90” ; LPRINT 4P+ 0,57 ; LPRINT “H X0, —-90, 2 ”
1060 LPRINT M5, —95” ; LPRINT “P- 0,5”
1070 LPRINT M5, -185” ; LPTRINT P-1” , LPRINT “HC1”
1080 RETURN
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0.576974sin (10t + 3~ 0,44752)

Rt L s thZ& mE 3.
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